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Midterm Test:
October 14th or 15th

From around 8 am - 6 pm (start test).

In a room in Horizon Hall, to be announced.

Give yourself 2 hours.
1 page, 2-sided cheat sheet allowed.
Scientific calculator required.

Graphing calculator forbidden.

October 07, 2024

I will announce the room in Horizon Hall and confirm the time window. But I think it's from
around 8 am to around 6 pm for start time.

Need to take your test somewhere else? We can arrange a proctored test in your area, but you

need to speak up.
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Midterm Review

Chapter 2 Test Portion

s
Questions from Test 2, Spring '15: for= Goed
- &‘
1. Let f(x)=+x+1. L6 = LD )
a. (5 pts) Find an equation of the tangent line to f = 4
‘ 2\
at the point (3, 2). JLNS .
|{7 = — = = aw 2
b. (5 pts) Sketch a graph showing f and the ZF 3 2\Gr ,
=L G
tangent line to f at the point (3, 2). = & =M. £ )
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2. (10 pts) The graph of a function f is given on the

right. On the same set of axes, sketch a graph of

1.
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3. (5 pts each) Differentiate the following with respect to the independent variable.
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4. (10 pts) Show that f(x)zx'l —6x" +15x -7 has no tangent line with a slope of m =-2.
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5. Consider the relation ysin(2x)= xcos(2y).

a. (5 pts) Use implicit differentiation to find y’=£. Cha'~ p“’Q'

dx é-
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b. (5 pts) Find an equation of the tangent line to the curve at the point (E E}
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6. (10 pts) A lighthouse is located on a small island exactly V3 km from the nearest point P on a straight
shoreline. The light makes 5 revolutions per minute. How fast is the beam of light moving along the

shoreline when it is 1 km away from P?
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We're not quite ready for #7. It's about differentials, and I'd like more than 10 minutes to
present the theory and an example.



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

